1

AIVI—RY—)V | NILV—RY—)L A B c D E F G | H I K| L |[M]|N
SX0-180 SX0-180-1 | M16x15 | NPT1/4 |46 | 112 | 26 | 11 | 8 |19 | 16985 | 13|22 | 5 | 26
SXO-180-2 | SXO-180-3 | Miex15 |NPTa/8 |46 | 112 | 26 | 11 | 8 |19 [ 18885 |13 |27 | 5 | =
SX0-181 SXO-181-1 | M16x15 | Rel/a |46 | 112 | 26 | 11 | 8 [ 19| 189285 | 153 22| 5 |26
SX0-181-2 | SXO-181-3 | Mi6x15 | Rea/8 |46 | 112 | 26 | 11 | 8 |19 [ 189285 |13 |27 | 5 | &
SX0-182 SX0-182-1 | 5/818UNF | NPT1/4 [ 46 | 109 | 23 | 103 | 8 |19 | 12845 | 13 |22 | 24 | 28
SX0-188 SX0-188-1 | 5/8-18UNF | NPT1/4 | 46 | 1154 | 294 | 143 | 65 | 19 | 19820 | 13 | 22 | 48 | 28
1
o
©
/ M‘ F
B E
- ]
D
AFVT—RY=)b | NIL—FRY—)b A B c D E F G H I J M
SX0-090 SX0-090-1 Miex15 | NPTa/s | 46 | 103 | 28 | 11 | 8 |19 | 18985 | 3 | s
SX0—091 SX0-091-1 M16x15 | Rel/a | 46 | 103 | 26 | 11 | 8 |19 | 1895 | 73 | s
SX0-091-2 | SX0-091-3 | M16x15 | Rea/8 | 46 | 103 | 26 | 11 | 8 |19 | 18925 | 73 | s
SX0—092 SX0-092-1 | 5/8-18UNF | NPT3/8 | 46 | 100 | 23 | 103 | 8 | 19 | 12822 | 733 | 24
SX0-098 SXO-098-1 | 5/818UNF | NPT3/8 | 46 | 1064 | 294 | 143 | 65 | 19 | 18839 | 733 | 48
1
§§ M16X1.5
~ |$% LH.
S |=
‘Lﬂ
= EE= R
p—
; Jslu)
‘ 25

90

—27— 6=9 BBFNIRER T 2



